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506B0gm gMmo:
a. 40 3g;

b. 60 33;

c. 100 3g;

d. 50 3g;
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50MB0gm 9OH™O:!
a. 45 amsbo
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b. -90 ¢GsnLo;
C. 90 a6s50bo;
d. 0 g®5©vL0;
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506R0g® JH®O:
a. Y=U/1

b. Y=1/U

c. Y=(G*+B?)w2
d. Y=5/U2
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396L5%B3MHgm PV2 3mwm@dg@®ol Bggbgds, oo PV1 = 50 3, PV3 = 80 g.

PV1 PV2

506B0gM 9HO:
a. 50 g;

b. 80 3;

c. 30 g;

d. 130 g.
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506B0gm 9gMHmo:

a. 30m@0, 533960,m30, 3530, 399960, BSMSOO.
b. gmm@o, ®do, 593900, 3530, 39VIM0, BMSWO;
C. 3m@o, 533960, mdo, 35¢0, 39660, BsMSO;
d. m3o0, 350, 39600, BsM5©O, FMWEO, 5339M0;
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50RO 9HMO:
a. Q=UISin®

b. Q=Uitgp

c. Q=UICosop

d. Q=UI
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20MB0gm ghmo:

di di di di
w=iry + L — - M—+irs + L, — — M—
a 1 1 de 2T P2 g dr

- di di . di di
U=in + 1y = +Mdt i1y + Lq = +Mdt

b.
. di di | di di
i u—L?"1+let+Mdt+l?2+Lz ﬂh:+Mm

i 4 L M i+ L % M
N U=ing + L4 dt—Mdr ire + Lq - Mdr
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506B0gm 9gMHmo:

a. 3oBMOO dsd35 BHM0os byarols

b. g35%G0o 3Bz BHME0s bsbMmGo dsdz0lL
C. bsBMo dsd35 BHMos bwols

d. 3sB®o dsd35 FgEos bsbuy® dsdgzsdg
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3033gdbmOo Gogbgol Fomdmbsbgomo bsfiowo j 3560LsBw3mgds Gmames :

50Mbogm 9OHmO:
a. Jj= ‘/__1
b J =—V-1
. J= —1¢°
a. ] =+1


http://testing.gtu.ge/filter/tex/displaytex.php?texexp=j%3D%5Csqrt%7B-1%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=j%3D-%5Csqrt%7B-1%7D
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=j%3D-1e%5E0
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=j%3D%2B1

